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MareMaTHYeCKUN TUKTAHT

I BapuanT 11 BapuanTt

IIpoBepbTe ceds:

1) 8x — 6x = 2x; 1) -13x + 9x = —4x;

2) 2y +y — 4y =-Y; 2) by + 3y -y =Ty;

3) -10a - 5a + a = -14a; 3) 6a-a-5a=0;

4)7b-b-6b = 0; 4) —9b — 4b + b = —12b;

5) ¢ - 8c + 10c = 3c; 5) —c + 3¢ — 6¢c = —4c;

6) — n + 2n — 4n =—-3n. 6) n—7n + 9n = 3n.




2x-3=(3x+7)5

1) Packpoute 2x—-3=15x+35

ekbeRrgsHecuTe N3BeCTHbIE

crnaraemble 2X = +35
B OOHY YaCTb YpPaBHEHUS, 2X — = 35

HEU3BECTH'.18 — B ADVIVID

3) NMpuBeguTte
noaoOHbIe craraemMsblie

4) Hangute KOpeHb
ypaBHEHUS

5) 3anuwiunTte
oTBeT




